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SOCIAL WORK
PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

1. Blocking a wish or desire from
expression is termed as
(A) Denial
(B) Repression
(C) Projection
(D) Regression

2. Which among the following is not a
component of client case worker
relationship ?

(A) Autonomy

(B) Confidentiality
(C) Empathy

(D) Sympathy

3. is the first settlement in U.K.
which is associated with group work.
(A) Charity organisation society
(B) Neighbourhood guild
(C) Toynbee Hall
(D) Hull house

4.  Social learning theory is associated
with
(A) Albert Bandura
(B) Julian Rotter
(C) Walter Mischel
(D) All the above

5. Amartya Sen is associated with
which of the following concepts ?
(A) Freedom
(B) Human Rights
(C) Basic Needs
(D) Economic Rights

6.  Which among the following is not a
symptom of schizophrenia ?
(A) Paranoia
(B) Vocational function
(C) Auditory hallucination
(D) Disorganized thinking
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10.

11.

Mean difference is also called as
(A) Standard error

(B) \Variance

(C) Co-efficient

(D) Correlation

Which of the following is an anti-
social element ?

(A) Clique

(B) Crowd

(C) Organised group
(D) Gang

The review of questionnaire with the
object of increasing accuracy is

(A) Coding
(B) Editing
(C) Recording
(D) Decoding

The book entitled “Two Treaties on
Civil Government” is by

(A) Hegel

(B) John Lock
(C) James Mill
(D) Bentham

The ‘Employees Provident Fund and
(Miscellaneous Provisions) Act’ was
passed in the year

(A) 1948
(B) 1952
(C) 1961
(D) 1976
D-10-13
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12.

13.

14.

15.

16.

Social group work as a method does

not help

(A) individuals to enhance social
functioning through purposeful
group experience.

(B) community to solve problems
of groups in a community.

(C) provide a context in which
individuals help each other.

(D) individuals and groups to
influence and change social
situations.

Who propounded that social action is
mass betterment through propaganda
and social legislation, a method of
bringing about a change in the social
environment of the clients ?

(A) M.V. Murthy

(B) Peter Lee

(C) Philip Kohler

(D) Mary Richmond

Which Article of Constitution of
India suggests for the protection from
social injustice and all forms of
exploitation and promotion of
economic and educational interests of
the weaker sections of the people ?

(A) Article 44 (B) Article 45
(C) Article 46 (D) Article 47

Example of Personality Test includes

(A) Minnesota Multiphasic
Personality Inventory.

(B) Rorschach Inkblot test

(C) Thematic Apperception test

(D) All the above

The largest professional social work

association in the United States is :

(A) International Federation of
Social Workers

(B) National Association of Social
Workers

(C) American Association of Social
Workers

(D) None of the above
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17.

18.

19.

20.

21.

22.

The Central Government Scheme to

prevent trafficking of women and

children for commercial sexual

exploitation is

(A) Ambedkar
Yojana

(B) Swadhar Yojana Scheme

(C) Ujjawala Scheme

(D) Rashtriya  Swasthya Bima
Yojana

Hastshilp  Vikas

Conscientization model is associated
with

(A) Mary Richmond

(B) Paul Chowdhary

(C) Paul Friere

(D) Perlman

Which among the following is not an
award instituted by the Ministry of
Labour and Employment ?

(A) Shram Awards

(B) National Safety Awards

(C) Viswakarma Awards

(D) Arjuna Awards

The flexibility in handling change is
termed as

(A) Altruism

(B) Innovation

(C) Adaptability

(D) Aggressiveness

The two main forms of social
stratification are

(A) Class and Estate

(B) Society and Community

(C) Caste and Class

(D) Family and Kinship

The book ‘Social Diagnosis’ was
written by

(A) H.H. Perlman

(B) Mary Richmond

(C) Trecker

(D) Herbert Bisno
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23.

24,

25.

26.

27.

28.

The points of scatter plots will seem
randomly distributed among the
quadrants when little exists
between the variables.

(A) Difference

(B) Correlation

(C) Regression

(D) Association

The specific characteristic of a
subject that assumes one or more
different values is called as

(A) Data

(B) Variable
(C) Hypothesis
(D) Scale

International Women’s Year was
(A) 1979
(B) 1978
(C) 1975
(D) 1976

The chronic condition present from
birth  with impaired adaptation
towards daily demands is

(A) Mental illness

(B) Mental retardation

(C) Both of the above

(D) None of the above

Repression is also known as

(A) Roaming in the past

(B) Isolation

(C) Rationalization

(D) Inhibition  of
impulse

threatening

The base of age pyramid in India is
broad due to

(A) High death rate
(B) High morbidity
(C) High birth rate
(D) High maternal mortality
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29.

30.

31.

32.

33.

34.

Difficulty in falling asleep is called
(A) Hyposomnia

(B) Anorexia nervosa

(C) Insomnia

(D) Bulimia nervosa

Public Interest Litigation as a
concept originated in

(A) USA

(B) UK

(C) Australia
(D) India

The book “Social Work Philosophy’
is written by

(A) Herbert Bisno
(B) Lindomen

(C) Thorndike
(D) Trecker

Who amongst the following is a
leading contributor  to our
understanding of groups as a system ?

(A) Bogardus

(B) Davis

(C) Talcott Parsons
(D) Garvin

Which one of the following is not a
correctional programme/service ?

(A) Anti-beggary programme
(B) Prison welfare services
(C) Community based youth club

(D) Special school for juvenile
offenders

Psycho social theory was propagated
by

(A) Sigmund Freud

(B) Skinner

(C) Hamilton

(D) Perlman

D-10-13
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35.

36.

37.

38.

39.

helps in reclassification of
variables and causal inferences.
(A) Research design
(B) Analysis of data
(C) Sampling procedure
(D) Sampling frame

The influence of one variable on the
other can be analysed by using

(A) Correlation

(B) t-test

(C) Chi-square test

(D) Regression

Which among the following does not
come under probability sampling ?
(A) Simple Random Sampling

(B) Stratified Sampling

(C) Purposive Sampling

(D) Cluster Sampling

Which one of these are techniques of
social case work ?

(A) Universalization

(B) Encouraging

(C) Both (A) and (B)

(D) None of (A) and (B)

To carry out Broker’s role the social

worker :

(A) thoroughly understand the
client’s situation, his
motivation, capacities and
opportunities for change.

(B) identifies client needs, assess
their motivation and capacity to
use various resources and helps
them gain access to the most
appropriate resources.

(C) teach clients to adopt necessary
skills required to change
behaviour.

(D) Uses his capacities to develop
activities, implementing and
monitoring a social service
plan.
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40.

41.

42.

43.

44,

Which of the following is the most
important task of an effective group
leader ?

(A) Enforce group discipline

(B) Assert group to achieve the
desired goal

(C) Exert decisions unilaterally

(D) Punish a social group
behaviour

Latent learning is an example of
(A) Avoidance learning

(B) Cognitive learning

(C) Escape learning

(D) None of the above

The book entitled ‘The Mentality of
Apes’ by Wolfgang Kohler, is about

(A) Latent learning
(B) Insight learning
(C) Escape learning
(D) Avoidance learning

Who amongst the following scholars
has described tribal population as
‘submerged humanity’ ?

(A) Dr. Ghurye

(B) A.V. Thakkar

(C) Dr. Das and others
(D) K.D. Gangrade

Correlation is a statistical tool for

(A) Discovering and measuring the
relationship and expressing it
in a brief formula.

(B) Measuring dispersion.

(C) Calculation of variation.

(D) Locating the point
which variables cluster.

D-10-13
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45.

46.

471.

48.

49.

Marriage is defined as

(A) An approved social pattern for
establishing a family.

(B) A socially sanctioned union of
male and female.

(C) A contract for production and
maintenance of children.

(D) All the above

The part of mind that lies on reality is
(A) Id

(B) Ego

(C) Super Ego

(D) None of the above

Which among the following is not

the purpose of Human Resource

Planning ?

(A) Configuring fixed skill setup
for the departments in a same

manner.

(B) Analyze people market
environment.

(C) Forecasting future skill

requirement.
(D) Optimum use of currently
employed human resources.

Article 41 of Indian Constitution

states

(A) Free compulsory education for
all children up to 14 years of
age.

(B) Right to Education and work.

(C) Educational and cultural
relations with foreign
countries.

(D) Educational grants for the
benefit ~ of  Anglo-Indian
communities.

Classical conditioning was

propagated by

(A) Ivan Pavlov
(B) Sigmund Freud
(C) Maslow

(D) Thorndike

Paper-111

10

50.

o1.

52.

Golden Triangle is

(A) known as three areas of a
continent where drug supply is
common.

(B) known as a set of three
countries producing heroin.

(C) a combination of three
countries with sound economic
position.

(D) a combination of three
countries with poor economic
position.

Match List-1 with List-1l and select

the correct answers from the codes

given below :
List—1 List— 11

() Social work (1) Interview
Tool

(1) Social work (2) Labour
Technique welfare

(1) Social work (3) Social
Method Action

(IV) Social work (4) Interaction
Field

COdeSI: an - av)

(A) 533 2 (4

B) (2) (3) (4 (1)

C) ) () (4 (1)

O @4 @1 B (@

Match List-1 with List-1l and select

the correct answers from the codes

given below :
List—1 List— 11

(1)  Human Rights (1) 7" April
Day

(1) World Day of (2) 10"
Social Justice December

(111) World (3) 20"
Humanitarian February
Day

(IV) World Health (4) 19" August
Day

COOIeSI: an - av)

(A) 533 4 (1) (2

B) (2) (3) (4 (1)

(C) () (1) (3) (4)

G @1 @ @ O
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(B) 3wH

(C) ™ 3=H

(D) Sw H § e T

qHa TEeE Haee & 3299 Fetarad

T W T AT ?

(A) fowr & fow ffvea e
A H UH F G HEUT
AT |

(B) SFRIA S NIR
forvetoor T |

(C) oEt SHITTeT STEvISHAT HT JATTHH
AT |

(D) FHE | AT AHa @ 6
AT ST |

YR e & S w8-41 & AR
(A) 14 T Ff 3G T & TIE Tedi
o foTT Frregess arfeme foret |

(B) ot oo 61 1 HATHHR |

(C) faseii & | 9ifersr qem Wepids
T |

(D) SATAI-NRAE TSR & @M e
SifeTeh SR |

FATHIDT SPHe BN TS e T2
o 9

(A) 3TEAT et

(B) Tamvs ®iTe

(C) rTet

(D) dFeR®

CIGIEEC I
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50. U RO ©

ol.

52.

(A) TETET & O & % T H U,
STET RNl SaT St g 3T |
(B) M 33 & e & ®I H T,
;ﬁr%ﬁﬁaﬂmﬁww
|
(C) T& emfereh feafd & @rer o <ot
T G |
(D) wUER s feafd & @ o=
9T T A |
gl & G-Il % G gaferd sife
3R A U T ISl 9 WE 3T B 99
e -
1 Tt — 11
0 FES ®E (1) WRITER
T ITHOT
1) FES wE(2)
EaksERIEa
) | wE (3)
EIREAT

HH M1

B IElSED

FRATE

AV) ¥ ®E (4) URERS
T & )

T
() an i @av)
A Q) 1 @ @
B) @ 3 @ (@
(OIE) 4) (1)
G @ O & @
gl B gE-ll & 9y gaferd Sifee
AN A foT T el 9 Tt 3T 99
I'
el - 11

- |
(1) TSR (1) 7 3T
(2) 10 TTE=R

feer
(3) 20 WERI

() IS =
1 fava fKad
1) fava  AFear

a1v) fava @Wed (4) 19 A

A

N an an @av)
A G @ O @
B 2 @ @ (@
© @ @O @G @
GO @ @ O
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53.

54,

55.

Match List-1 with List-11 and select
the correct answers from the codes

given below :
List—1 List— 11
() Psycho-social (1) Sigmund
theory Freud
(1) Psycho- (2) Skinner
analytical
theory
(1) Learning (3) Hamilton
theory
(1V)Behaviour (4) Thorndike
Modification
Theory
Codes :
(1 an - amy @av)

A O @ @
B @ 3 @ @
© @ @O 6@ @
GO @ @ O

Match List-1 with List-11 and select
the correct answers from the codes

given below :
List— 1 List—11
() Halluci- (1) False
nation perception
(1) Bipolar (2) Mood
Disorder disorder
(111) Dementia (3) Anorexia
nervosa
(V) Eating (4) Organic
Disorder psychosis
Codes :
() an - any @1v)

A @O 6 @ @
B @O @ @ @3
© @O @ @ @3
GO @ 6 @

Which one of the following pairs is
correctly matched ?

(A) Supervision and

Education in charity  Brackett

(B) Supervision in -Bertha
social case work Renolds

(C) Learning and -Virgina
Teaching in the Robinson
Practice of Social
Work

(D) The Learner in -H.H.
Education for the Perlman

Professions

Paper-111
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56. Match List-1 with List-1l and select

S7.

the correct answer from the codes

given below :
List—1 List— 11

(@ Unitary (i)  Gandhiji
approach

(b) Trusteeship (i) John R.
approach Commons

(c) Systems (iii) Dunlop
approach

(d) Pluralist (iv) Edward
approach

Codes :
@ @ () (@

(A) i)y (@) (1) (v)

(B) (i) (i) (iv) ()

(© (i) (i) (v) ()

(D) (iv) () (i) (i)

Match the Acts given in List-1 with
their year of passing given in List-11 :

List—1 List—11
(Title of the Act) (Year of
Enactment)
() The Equal (1) 1923
Remuneration
Act
(1) The Workmen’s (2) 1972
Compensation
Act
(1) The Employees (3) 1948
State Insurance
Act
(IV) The Payment of (4) 1976
Gratuity Act
Codes :
M an - any av)
A @ @ QO B
B @ @4 @G @
€ & @ @ 0
G @ @O 6 @
D-10-13



53.

54,

55.

Al B gE-ll & 9y gafed sifew
3T A fST T et A W 3T A T
FHIT -
e - | =t - 1
O T EmseE (1) faee
szl WIS
1) wTHEves (2) R
s

iy ewm fesra (3) RfeeA

(V) TR TIMET (4) FHSEH
A=

E T
( an an @av)

A B3 1) @ @

B 2 @ @ @O

< @ QO © 4

GO @ @ O
G-l B GE-l & 9 gaferd Hifew
3 e fSU T et A W 3T A T
FHIT :

=i - |
1 favm
(1) Ty foepe
(III) HAST

=it - 1
(1) e ey
) Hg fagfa
(3) TARTFTET

4T

AV) T@F ¥ TEtad (4) o
Toepfer EElICEaR]

| (M an - an a1v)

A1 B 2 @

B) 1) @ @ @O

<€ 1 @ @ @O

GO @ O @

frfofaa & ¥ 9 91 379 T gHferd € 2
(A) RIS T0g — S IR

TSR T ke

Gitcl

(B) UWfoNH e @l — 99 Hiee
%Y Tk

(C) v uve e g — asiitaar
g Ufgew e RGErsE)
9T T

(D) TR e USTHIH  — TE.UE,
ER 1T TR RIgEE]

E 4
(=N
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56.

S7.

A1 H G-I F A gt Hie
3R e 5T U ISl ¥ et ST H TI

FHINTT ;

=it - |
(a) TSI SUTH
(b)  =NTEET SUNTH

=it - 1
(i) TSt
(i) SH IR

HEH
(i) STo1q

(iv) TSas

(c) I IUTTH

(d) SEART IUTTY

YA

(=N

@ (@® ( (@
(A) (i) @) (i) (iv)
(B) (i) (i) (v) (i)
€ @) @) (dv) @)
(D) (v) () (i) (i)

-1 § RU sAfafemt ®f g=-1 5 K
URT BF % a9 & G GHfed i
3R A U T el W WE 3T H TI
FHINTT
Tt - |

=t - 1

(arfafam) @)

(1) TEE TREHE (1) 1923
At

(I)  HHAR G (2) 1972
K BIEp)

(1II) FHHRI T AT (3) 1948
K BIEp)

(IV) SUEH "™ 4) 1976
arfutag

E T
(M an o am (v

A @ @ O 6

B @ & 6 @

© 6 @ @4 @O

G @ @O & @
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58.

59.

60.

Assertion (A) : Every human being
has to be regarded as a person
with dignity and worth.

Reason (R) : Human beings are
interdependent.

Choose your answer from the codes

given below :

Codes :

(A) Both (A) and (R) are correct.

(B) Both (A) and (R) are not

correct.

(C) (A) is correct, but (R) is not
correct.

(D) (A) is not correct, but (R) is
correct.

Which one of the following is not an
objective of fieldwork ?

(A) To relate class-room
instructions into the real life
situations.

(B) To develop skills in working
with target groups.

(C) To work as a member of staff
at the agency.

(D) To attain professional growth
and development.

Assertion (A) : Human beings are
not subservient to State.
Reason (R) : All human beings are
born free and equal in dignity

and rights.

Choose your answer from the codes

given below :

Codes :

(A) Both (A) and (R) are correct
and (R) is not the correct
explanation of (A).

(B) Both (A) and (R) are not
correct.

(C) (A) is correct, but (R) is not
correct.

(D) (A) is correct and (R) is the
correct explanation of (A).

Paper-111
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61.

62.

63.

Assertion (A) : Research Studies
overlapping one another are
undertaken quite often for
want of adequate information.

Reason (R) : Duplication of
research studies result in
plagiarism.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are not
correct.

(C) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(D) (A) is correct, but (R) is not
correct.

Assertion (A) : In a simple random
sample of a given size, all
such subsets of the frame are
given an equal probability.

Reason (R) : Any given pair of
elements has the same chance of
selection as any other such pair.

Codes :

(A) (A) is correct and (R) is
wrong.

(B) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(C) Both (A) and (R) are wrong.

(D) Both (A) and (R) are correct, but
(R) is not an explanation of (A).

Assertion (A) : Personality is the
particular  combination  of
emotional, attitudinal, and
behavioural response patterns
of an individual.

Reason (R) : Personality refers to
enduring personal characteristics
that are revealed in a particular
pattern of behaviour in a variety

of situation.

Codes :

(A) (A) is correct and (R) is
wrong.

(B) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(C) Both (A) and (R) are wrong.

(D) Both (A) and (R) are correct,
but (R) is not a correct
explanation of (A).
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58.

59.

60.

APTHUT (A) : TAF TG I IRAT q2AT
Jradr gad Al |Hel ST
qMET |

FHTT (R) :
T E |

I 5T T Hiel 9 W@l ST B I

HINTT ;

B

(A) (A) 3R (R) 31 T E |

(B) (A) 3R (R) 3T Wel el & |

(C) (A) WIT, W] (R) W&l TR ¢ |

(D) (A) T&l &1 &, g (R) WET € |

AME T T8 W 3T

fr=fefad & & &9 S &1 329 T qT

T T2

(A) F=T T H I SR @
Teeh Sie ot fefaal & @
TrEied AT |

(B) AT TRl % AT HH FA §U
FHITTA Toehiad T |

(C) Tl § W% & T & &7 d
FHF FHET |

(D) =EHa® Fghg qdn foae ara
EZCIN

ATHAT (A) : AFT TT F SAles{Er
T & E |

HRUT(R) : @ TFa TRET qer
AHRT & T T @A aer
T S €

I 5T T wiel 9 W@l ST B I

HINTT ;

T

(A) (A) 3R (R) TF W § R (R),
(A) i T& AT TEl ¢ |

(B) (A) 3R (R) I W& &I € |

(C) (A) T T, W (R) Tel &I & |

(D) (A) W& & 3R (R), (A) B Tl

T |
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61.

62.

63.

ANWHYT (A) : T T T HA h
I W U Th T HI e
F a1 TNy 3eEa R S §

HRUT(R) : Mg 3&FA h

H ko anfefers

TR FTEAT & |

A

(A) (A) 3R (R) HT T & &R (R),
(A) Tl AT |

(B) (A) 3R (R) T T T € |

(C) (A) 3R (R) S Tl &, W (R),
(A) S TE AT T ¥ |

(D) (A) Wl & W= (R) T&l T8I & |

AWFHUT (A) : T KT T HR &
WA IGesd Uaeel H, & T
U WAl I WAE WiEssar &t
STt & |

HRUT(R) :  HH & 6l ff §T M@

W % TAEd B B e

3ot & g ¢ oA T oY Tt

3T T H |

FS:

(A) (A) &g 3R (R) T € |

(B) (A) 3R (R) IHT Wel € 3 (R),
(A) T el AT |

(C) (A) 3R (R) 3T T & |

(D) (A) 3R (R) 3 el &, T (R),
(A) T AT TR T |

Afimem (A) . Al Al &
oA, STga T SR
g ufdfearet & A (@
A2 ot T fasor &

HRUT(R) : AKdd TRl &
fehrss SformTa foarett 1 Hohd
HA & S fafv= feafaa § =R
% Y T AT A BT § |

o

(A) (A) T& T 3R (R) Toid & |

(B) (A) 3R (R) I W § AW (R),
(A) Tl AT |

(C) (A) 3R (R) I T € |

(D) (A) ¥R (R) SHI W & W (R),
(A) T TE AT TEF |
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64.

65.

66.

67.

Assertion (A) : The  phase and
complexity of any group will
be the same.

Reason (R) : Social group work
supports people to make use
of leisure time.

Codes :

(A) Both (A) and (R) are correct.

(B) Both (A) and (R) are wrong.

(C) (A) is correct and (R) is
wrong.

(D) (A) is wrong, but (R) is
correct.

Assertion (A) : The criminal justice
system is designed to punish
and reform the criminal.

Reason (R) : The law in India is not
victim-oriented.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are not
correct.

(C) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(D) (A) is not correct, but (R) is
correct.

Following are the steps of social
research, arrange the steps to prepare
a plan of research study :

(1) Data collection

(2) Hypothesis

(3) Problem formulation

(4) Objectives

(5) Processing and analysis of data
(6) Report writing

Codes :

(A) (1) (3) (2) (4) (5) (6)

(B) (2) (3) (1) (4) (5) (6)

(C) (4 (3) (2) (1) (5) (6)

(D) () (4) (2) (1) (5) (6)

Identify the correct sequence among

the following :

(A) Selection, recruitment,
induction, placement

(B) Induction, selection, placement,
recruitment

(C) Recruitment, selection,
induction, placement
(D) Recruitment, induction,

selection, placement
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68.

69.

70.

Arrange the different phases of

disaster management in correct

sequence :

(i)  Warning messages on the
impending disaster.

(i)  Evacuation

(itlf) Community based
preparedness

(iv) Rescue

(v) Resettlement

(vi) Rehabilitation

Codes :

(A) (D), (i) (i), (iv).(v).(vi)

(B) (i), (i), (iv),(iii),(v),(vi)

(C) (i), (i), (v).(iii).(iv) (v)

(D) (i), (), (i), (iv),(v),(vi)

Arrange the following steps in the
proper sequence :
1.  Attending the call on child

helpline.
2. Producing the child before the
Juvenile Justice Competent

Authority with case details.

3. Picking up the child and
seeking permission to provide
shelter.

4.  Assessing the child’s needs and
providing suitable services.

5. Sending the child to after care

home.
(A) 2,3,4,51 (B) 1,3,245
C) 4,2,51,3 (D) 51,234
List the following days of

international observance in the order

of their occurrence in the calendar

month of October.

I. World Mental Health Day.

ii.  International Day of Older
Persons.

iii.  World Food Day.

Iv. International Day of Girl Child

@ i i .

1, v
B) i, i, i, v
©) i, i, v, i
() i, i, v, iii
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64.

65.

66.

67.

afiremerm (A) : ol off 99 1 o
qT SAfeetar Uk &l & |

FHRUT(R) : AT THE FE IR
% WHT T SUANT HA T AN i
TETAT AT € |

A

(A) (A) 3T (R) 31 T E |

(B) (A) 3R (R) ST Toid & |

(C) (A) W& 3R (R) T € |

(D) (A) ToId &, W= (R) W&l € |

ANHUT (A) : AWTF =T O
R H Ve HA ql IH
GYR & TR S SAA & |

HROT(R) : 9RG H HHF  difed
Tt TR € |

=

(A) (A) 3R (R) IHI I & &R (R),
(A) Tl el AT T |

(B) (A) 3R (R) T Wel &l & |

(C) (A) 3R (R) FHl & & R (R),
(A) T TE AT TEIE |

(D) (A) Tel &l &, g (R) W& € |

ST Y & =TT efeiad &, 9y
AFIT B AN I & T I
waﬁ%raﬁﬁq:

(1)  SAhel Ghet

(2) UREHeET

(3)  TEET T GAHT

(4) YT

(5)  3AThg T MR aer favetyor
(6) e feramn

E

A 1 B @ @ B (6
B @ 3 @ @ G (©
€ @ 3 @ @ G ©
D) B @ @ @ G ©
ffcfed & ¥ W 3T S TeaH
HiferT -

(A) =TT, 3dl, U=, S

(B) W= , o5, T, et

(C) wdil, ==, Wi, T

(D) wdif, v, ==, T
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68.

69.

70.

AU U % =T won H WEl
3TTHY § Safed HifT |

(i) 3T T T O SdATEr 39T
(i) T G AT

(i) THSE SR FHIIHA

(iv) =E HE

(v) e

(vi) T

&<

(A) (), (i), (iii), (iv), (v), (vi)
B) (), (i), (iv), (i), (v), (vi)
(C) (), (i), (v), (i), (iv), (vi)
(D) (i), (i), (i), (iv), (v), (vi)

FAfeiiEd =Ron &l 3fea srwA |

aqaﬁ?maﬁ%m:

(1) <R §o4-T8d W RIF et o |

2 = H HT H AR F A
AH =F T WEER &
THET T HAT |

(3) = B UHE B AT UGH HH
% foTT SFAfd o |

(4) T H SMEAIRATS FHI e
FAT TA IYHF  HAW UM
FHET |

(5) = W FEIT  HAW  FH
(STHA @A Te) H T |

A 2 B @ 6 @

B 1 G @ & 6

€ @ @ 6) 1) B

D) 6 1) @ B 4

IR ol &l 3TaeR HE | 3%
Hied g % T H Fard it

() fova Amias wre ag

(i) SR = fgog

(iii) o 3ER fgaq

(iv) SRR %= fgag

(A) (), (i), (i), (iv)

(B) (i), (1), (iii), (iv)

(C) (i), (i), (iv), (i)

(D) (i), (1), (iv), (iii)
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Read the passage given below and answer
the following questions as per the
understanding of the passage (Question
Nos. 71 to 75)

Ageing can generally be described as
the process of growing old and is an
intricate part of the life cycle. Basically it
is a multi-dimensional process and affects
almost every aspect of human life.
Introduction to the study of human ageing
have typically emphasized changes in
demography focusing on the ‘ageing of
population’~ a trend, which has
characterized industrial societies
throughout the twentieth century but in
recent decades, has become a worldwide
phenomenon. Ageing is basically the result
of a two dimensional demographic
transformation which is explained by
overall declines in mortality and fertility.

Although the proportion of elderly in
the years 60 and above is considered to be
relatively low in the case of the developing
countries such as India and China, they
have a larger population base. Developed
countries have aged with high social and
economic development, the socio and
economic condition of the elderly in the
developing world is a cause for concern as
most of them end up in living below
poverty line in old age due to inefficient
social ~ security. The poverty and
deprivation are very common among the
aged in the country as it does not have
proper safety nets either state sponsored or
socially build.

The lives of many older people are
more frequently negatively affected by the
social and economic insecurity that
accompany  the  demographic  and
developmental process. The growth of
individualism and  desire  for the
independence and autonomy of the young
generation affect the status of the elderly.
The studies show that the socio-economic
condition of older women is more
vulnerable in the context of the
demographic and socio-cultural change.
The condition of elderly poverty has been a
consistent phenomenon in the Third World
as the older population is deprived of the
basic needs.

Social scientists described the eight
diminutions of deprivation among the

elderly as poverty, social inferiority, social
isolation, physical weakness, vulnerability,
seasonality, powerlessness and humiliation
of the aged. Poverty is sought to be a major
risk of ageing in developing countries and
study by the World Bank reveals that in the
most of the developing countries, older
people are vulnerable.

71. Aging is basically the result of a
demographic transformation which is
(A) Multi-dimensional
(B) Two-dimensional
(C) Three-dimensional
(D) One-dimensional

72. The reason for a growing poverty and
deprivation among the aged in the
country is :
(A) Urbanization
(B) Breaking of Joint families
(C) Absence of proper safety nets
(D) Industrialization

73. The deprivation among elderly

include

I. Poverty and social Inferiority

ii. Decline in mortality and
fertility

iii.  Social isolation and physical
weakness

iv. All the above

Code:

(A) iandiiare correct
(B) iiandiii are correct
(C) iandiiiare correct
(D) iviscorrect
74. Factors responsible for the present
states of elderly
I. Socio-economic insecurity
ii.  Growth of individualism

iii. Dependence of the young
generation

iv.  None of the above

Code:

(A) iandiiare correct
(B) iiand iii are correct
(C) only iiiis correct
(D) onlyiv is correct
75.  Which of the following is considered
as a major risk of aging in
developing countries ?
(A) Seasonality
(B) Vulnerability
(C) Poverty
(D) All the above
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e U 7T TR W ufeu dem W ST @
A GO & AR TqF 1% U T Al
(I F. 71 9 75) % I T ;

AT JETT T S0 ¢ & i Uishar
% w9 | fRar ST € 3R I8 STae 99k & U
St T & | e 7@ U SgaETH! i &
T A S o AT T 9eTl B uTiad
FIAT & | TS T HT STEHT & (BT ST
% g TR S qgerem’ - ST Srgoy et
yaesl § SRR Ee Bl OReletd s
Al ugta & S el & SRl H - favee
UREEAT S Tt & — Fl g H TGHT IR
T gt W fafere w0 @ 51 5@ mn e
Tod: @Il Ueh 53T S ST
1 IR0 & fSTHeh! ST Jedan 3T STH=eTHa
o Ty B % &9 | @ S & | FgA qRa
T E W foeerasier S oA 60 A e
A S Tt 1 BN U AR 9 H
FHH [T ST €, TN ST TR o § |
foiaa <9 & 7T ST 9SS U 3
o & URawT o 92 & §, W= fasreier
é?ﬁﬁqa cmql?:h”ramllwo@ra?rrﬁﬁb‘
fefa faar = faug & =it smata qmtes
GRAT & FHROT 3T O ST AT HT Ferr
TE @ & A T e € | 39 39 H g
ZiAal § TR G479 At Ga-qE &
Fhifh F&1 7 TWHR - TESTd 7 & TAET -
%Www%

SHifhhE Td TThrauis Ufshar & are
ol WIS T M STYRT 3HF I
SATHIAT T THRIHS & T T Heelm % |
AfTaTs % g 31X gar gl & @ ud
@Ed BH & 9% gF Aledl w fefd w
T Al | 3 STl ¥ A Il Ferd
¢ o SHifheh T QHIMSTH — TEHiH
RS o TS H g Aieaal i fefq st
STRMAT & | Tt g ° gt B TR U
IFRT TS & HiTh FGI I TG FHAR]
STl 9 afad € |

TSGR = g5 ARl o 9o 9
3T Tl 1 U Tohall & : g ol T, TSI
= fefq, Qs Q‘oﬂﬁ%ﬂ? YRR ot

nﬁw’ﬁm PRSI T ST |
ﬁwﬁa%&ﬁﬁnﬂaﬁg@%mwww%
T fored e o U 3TEIE ¥ g U =ord § T
AT forshTTeer <91 H 9o @I TR € |
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71.

72.

73.

74.

75.

JEIT YoTd: TSk SHifhhd EARoT
R & S

(A)  wg-amEmH

(B) fs-smamt

(C) -3t

(D) w3

91 H Fog ATHTAT Bl Sgell g5 T e
ST T HROT E :

(A) ¥R

(B) g URERT 1 e

(C) THfad GRI-Se &l 3T9E

(D) iR
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